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RATIONAL NUMBER

5
1. Hamid says — is a rational number and 5 is

only a natural number. Shikha says both are

rational numbers. With whom do you agree?

f _ 1


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_HJsg0H3AyGOY

‘ o Watch Video Solution

2. Give one example each to the following
statements.
iv. A number which is natural number, whole

number, integer and rational number.

° Watch Video Solution

3. Give one example each to the following

statements.


https://dl.doubtnut.com/l/_HJsg0H3AyGOY
https://dl.doubtnut.com/l/_6rfLxgaWLgqn
https://dl.doubtnut.com/l/_7jat0atVByQI

ii. A whole number which is not a natural

number

° Watch Video Solution

4. Give an example to satisfy the following
statements : All integers are rational numbers

but all rational numbers need not be integers.

o Watch Video Solution

5 9 13
10 8



https://dl.doubtnut.com/l/_7jat0atVByQI
https://dl.doubtnut.com/l/_pROg25EfvV7L
https://dl.doubtnut.com/l/_xDl5gSDnqeOy

I o Watch Video Solution

3 2
6. The Val fl— +4— =
e Value o 5+ -

° Watch Video Solution

-7 -9
.Th — — [ — | =
7. The Value of 16 <20)

o Watch Video Solution



https://dl.doubtnut.com/l/_xDl5gSDnqeOy
https://dl.doubtnut.com/l/_2L2sHDVOXj6h
https://dl.doubtnut.com/l/_cHEvwR33fRVr
https://dl.doubtnut.com/l/_3aPEiqGDup0u

l & Watch Video Solution ]

9. Find the additive inverse of the following

numbers : _7, L . _3,8
6 10" 4

° Watch Video Solution

18 —33
10.ﬁ X T

o Watch Video Solution

LT
17 10



https://dl.doubtnut.com/l/_3aPEiqGDup0u
https://dl.doubtnut.com/l/_eMW9iug41S5o
https://dl.doubtnut.com/l/_y7goozVowlZD
https://dl.doubtnut.com/l/_9CGPMOO3wzrE

o Watch Video Solution

o 105 18
‘T2 * 15

o Watch Video Solution

13 100

13. The value of 120 X 16

° Watch Video Solution



https://dl.doubtnut.com/l/_9CGPMOO3wzrE
https://dl.doubtnut.com/l/_iaTolO1wSPmP
https://dl.doubtnut.com/l/_FQmMbZlQekJo
https://dl.doubtnut.com/l/_UZnZhsDVAqvy

l QJ Watch Video Solution

18 — 72
15. The Value of 5 (7—5) —

° Watch Video Solution

— 125 50
16. The Value of - =
64 16

o Watch Video Solution

512 —1024
a1 " 21

17. Divide



https://dl.doubtnut.com/l/_UZnZhsDVAqvy
https://dl.doubtnut.com/l/_CLH6pkRPrdhb
https://dl.doubtnut.com/l/_JP8DR11VBtiu
https://dl.doubtnut.com/l/_baIePkUcJKeB

| W vvatcn video sSolution J

18. If we exclude zero from the set of integers.

then is it closed under division ?

° Watch Video Solution

19. If a property holds good with respect to
addition for rational numbers, whether it holds
good for integers ? And for whole numbers?
Which one holds good and which doesn't hold

good?

| - |


https://dl.doubtnut.com/l/_baIePkUcJKeB
https://dl.doubtnut.com/l/_fhHbE3VrHWM3
https://dl.doubtnut.com/l/_Cr2JwWltDfuX

I QJ Watch Video Solution I

20. Write the numbers whose multiplicative

inverses are the numbers themselves.

° Watch Video Solution

21. Can you find the reciprocal of '0' (zero)? Is
there any rational numbers such that when it is

multiplied by '0' gives '1' ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Cr2JwWltDfuX
https://dl.doubtnut.com/l/_UucHu1IkPswJ
https://dl.doubtnut.com/l/_VTDhAKvlgfNJ

22, Find using distributivity

i () 15w

° Watch Video Solution

23. Find using distributivity

{%XS}—I—{%X(—N)}

o Watch Video Solution



https://dl.doubtnut.com/l/_f5iU7hvWm9sd
https://dl.doubtnut.com/l/_CzaBY8QHjtBR

24. Complete the following table using the

periodic table .

. Period Total no.of Elements

| number elements From To

T S N
|

Total no. of elements in
s-block p-block | d-block | f-block

° Watch Video Solution

25. Complete the following

periodic table .

table using the


https://dl.doubtnut.com/l/_vO5bL364D4dc
https://dl.doubtnut.com/l/_6S8DovenFyyD

| Period Total no.of Elements Total no. of elements in

i H S A

| number elements From To s-block p-block | d-block | f-block
1

° Watch Video Solution

. 2 3 —6 —13
26. Simplify 5 -+ = + (T) + (T)

° Watch Video Solution

27. Write the additive inverses of each of the

2
following rational numbers : —



https://dl.doubtnut.com/l/_6S8DovenFyyD
https://dl.doubtnut.com/l/_g2jsK9v2fulA
https://dl.doubtnut.com/l/_4SpBonWrFhAA

° Watch Video Solution

28. Write the additive inverses of each of the

—11
following rational numbers : 5

° Watch Video Solution

29. Write the additive inverses of each of the

7

following rational numbers : 13

° Watch Video Solution



https://dl.doubtnut.com/l/_4SpBonWrFhAA
https://dl.doubtnut.com/l/_3IupvnAaNjBJ
https://dl.doubtnut.com/l/_ILr1iHiwmPVZ
https://dl.doubtnut.com/l/_EzmJPZ6FU09V

30. Write the additive inverses of each of the

—2
following rational numbers : —3

° Watch Video Solution

52, (=1 22 1 3
5\ ) T 9 T

° Watch Video Solution

-9 5
32. Multiply the reciprocals of RET and add

the additive inverse of (?) to the product.

What is the result ?


https://dl.doubtnut.com/l/_EzmJPZ6FU09V
https://dl.doubtnut.com/l/_V3GA2mzWnQXm
https://dl.doubtnut.com/l/_06wtxnlwVJAu

° Watch Video Solution

33. Name the property involved in the following

8 8 8
examples:g+0:g:0+€

° Watch Video Solution

34.Name the property involved in the following

3 1 3 1
examples : 2(g + 5) — 2<€> T 2(§>

° Watch Video Solution



https://dl.doubtnut.com/l/_06wtxnlwVJAu
https://dl.doubtnut.com/l/_0VFzZUTC3x54
https://dl.doubtnut.com/l/_waYIgRXJ85gK
https://dl.doubtnut.com/l/_zK4VIiZdo9KE

35. Name the property involved in the following

3 3 3
examples:7><1:7:1><7

° Watch Video Solution

36. Name the property involved in the following

—2 —2 —2

° Watch Video Solution

37.Name the property involved in the following

2 1 1 2
examples:g—l—gz §+€


https://dl.doubtnut.com/l/_zK4VIiZdo9KE
https://dl.doubtnut.com/l/_7AiXEqRwbym5
https://dl.doubtnut.com/l/_eDFlXwqr9NMg

° Watch Video Solution

38. Name the property involved in the following

5 3 15
examples : 3 X =1

° Watch Video Solution

39. Name the property involved in the following

examples:7a + ( —7a) =0

° Watch Video Solution



https://dl.doubtnut.com/l/_eDFlXwqr9NMg
https://dl.doubtnut.com/l/_WizgUHMyIAOD
https://dl.doubtnut.com/l/_WTfj2Yivsq7P
https://dl.doubtnut.com/l/_opQIrKinEwZm

40. Name the property involved in the following

examples : x X s 1(xz # 0)

° Watch Video Solution

41.Name the property involved in the following

examples: (2 x ) + (2 x 6) = 2 x (z + 6)

° Watch Video Solution

42. Write the additive and the multiplicative

inverses of the following : =



https://dl.doubtnut.com/l/_opQIrKinEwZm
https://dl.doubtnut.com/l/_G49HbrUW3FJH
https://dl.doubtnut.com/l/_wvdswXDfR12d

\ ° Watch Video Solution

43. Write the additive and the multiplicative

inverses of the following : 1

° Watch Video Solution

44. Write the additive and the multiplicative

inverses of the following : O

° Watch Video Solution



https://dl.doubtnut.com/l/_wvdswXDfR12d
https://dl.doubtnut.com/l/_5CgUpTPjj4hf
https://dl.doubtnut.com/l/_K9ei8hVDDreA
https://dl.doubtnut.com/l/_aRcBJdDvijM4

45. Write the additive and the multiplicative
7

inverses of the following : 9

o Watch Video Solution

46. Write the additive and the multiplicative

inverses of the following : -1

° Watch Video Solution

47. Fill in the Blanks

()= (=) (%)



https://dl.doubtnut.com/l/_aRcBJdDvijM4
https://dl.doubtnut.com/l/_eNxSUnIEXddP
https://dl.doubtnut.com/l/_tqqqGraKa1Dx

\ ° Watch Video Solution

—2
48. Fill in the Blanks : 3 + - —

o Watch Video Solution

9
49.Fill in the Blanks : 1 x _ _ T

o Watch Video Solution



https://dl.doubtnut.com/l/_tqqqGraKa1Dx
https://dl.doubtnut.com/l/_gGYkAjzh8mnw
https://dl.doubtnut.com/l/_WavhKWWCCMiF

50. Fill in the Blanks

—12+(%+g): (—12+%)—(_ _)

° Watch Video Solution

51. Fill in the Blanks
() 1 N 1\ (3 1 3
- 3t3)=\72%3) 1%

° Watch Video Solution

- —16 —16
52.Fill in the Blanks : _



https://dl.doubtnut.com/l/_4iE8A5FG0oja
https://dl.doubtnut.com/l/_zu0koosFIuJz
https://dl.doubtnut.com/l/_qECFF67Mw9mu

I QJ Watch Video Solution I

2 5
53. Multiply ﬁby the reciprocal of VS

° Watch Video Solution

54. Which properties can be used in computing

2 7 1 4
— X |Hh X — — X [3x — |7
5 [ 6]+3 ( 11)

° Watch Video Solution



https://dl.doubtnut.com/l/_qECFF67Mw9mu
https://dl.doubtnut.com/l/_sRjD1ezvXPbf
https://dl.doubtnut.com/l/_HYbizvIKqtVx

55. Verify the following and write the property

used
5,71\, =3 _5 (=1, -3
173 )t T7 5 T 5

° Watch Video Solution

3 7 —2 —2
56. Evaluate 5 + 3 + | — | + | — | after

rearrangement.

° Watch Video Solution



https://dl.doubtnut.com/l/_zAkzeDyGEYbI
https://dl.doubtnut.com/l/_JKj5qFwsVk8i

57.Subt t3f .
-Subtract — from 5

° Watch Video Solution

58. Subtract from 2

° Watch Video Solution

59. Subtract - 7 from _74

° Watch Video Solution



https://dl.doubtnut.com/l/_BG9q4jvJMqyE
https://dl.doubtnut.com/l/_AFKkjdEtSIVL
https://dl.doubtnut.com/l/_1krwCw8cP6Bg
https://dl.doubtnut.com/l/_n5wwTRUk8HP1

—5
60. What number should be added to = SO as

to get —°. 7
Oge T.

° Watch Video Solution

61. The sum of two rational is 8. If one of the

number is - find the other

° Watch Video Solution

62. Is subtraction associative in rational

numbers ? Explain with an example.


https://dl.doubtnut.com/l/_n5wwTRUk8HP1
https://dl.doubtnut.com/l/_nbmv8OvHvlTF
https://dl.doubtnut.com/l/_jHzcTqSy8a1r

° Watch Video Solution

2
63. Verifythat — ( — ) = = forax = =
o Watch Video Solution
. —13
64. Verify that — ( — z) = z forz = -

o Watch Video Solution



https://dl.doubtnut.com/l/_jHzcTqSy8a1r
https://dl.doubtnut.com/l/_mwCCOrmS11DY
https://dl.doubtnut.com/l/_QI04iQGHxagT

65. Write the set of number which do not have

any additive identity .

° Watch Video Solution

66. Write the rational nhumber that does not

have any reciprocal.

° Watch Video Solution



https://dl.doubtnut.com/l/_XWgPSH5kwgI6
https://dl.doubtnut.com/l/_nmmnDXqmNJhE

67. Write the reciprocal of a negative rational

number.

o Watch Video Solution

5
68. Represent 3 on the number line.

° Watch Video Solution

69. Represent o on the number line.

° Watch Video Solution



https://dl.doubtnut.com/l/_rd9pPN3uKfWl
https://dl.doubtnut.com/l/_WR1YZgBJ8XM3
https://dl.doubtnut.com/l/_IogPHoLkTe4g

70. Represent — 5 on the number line.

° Watch Video Solution

71. Write any five rational numbers between -3

and O.

° Watch Video Solution

72.Represent these number on the number line

9

7


https://dl.doubtnut.com/l/_IogPHoLkTe4g
https://dl.doubtnut.com/l/_DOPDCOCPruKI
https://dl.doubtnut.com/l/_Dt5yCY6kOhbE
https://dl.doubtnut.com/l/_bDuR2Z9M6048

° Watch Video Solution

73. Represent these number on the number line
—7
5

° Watch Video Solution

2 5
74. Represent 1 T 13 T3 on the

number line.

° Watch Video Solution



https://dl.doubtnut.com/l/_bDuR2Z9M6048
https://dl.doubtnut.com/l/_hacGPkYfHwf9
https://dl.doubtnut.com/l/_qyMAfRdRqTq4
https://dl.doubtnut.com/l/_vgXfss1ScGkJ

75. Write five rational numbers which are

smaller that 8

° Watch Video Solution

76. Find 12 rational numbers between -1 and 2

° Watch Video Solution

2 3

77. Find a rational numbers between 3 and 7

[Hint: First write the rational numbers with

equal denominators.]



https://dl.doubtnut.com/l/_vgXfss1ScGkJ
https://dl.doubtnut.com/l/_4nKq9wi7LKwo
https://dl.doubtnut.com/l/_31iFdjh3k8aW

\ ° Watch Video Solution

78. Find ten rational numbers between — 7 and
5

5

° Watch Video Solution

79. Express the following in decimal form.

7T 3 23 5 17 22

5°4710°37 67 T

° Watch Video Solution



https://dl.doubtnut.com/l/_31iFdjh3k8aW
https://dl.doubtnut.com/l/_tWCGgpsCuXec
https://dl.doubtnut.com/l/_rBQEdatcwf0z
https://dl.doubtnut.com/l/_fjr7JBqkdtQH

80.
Express the following in decimal form.

32851722 07

11003607 0

Flx

Z
5

Which of the above are terminating and which

are non-terminating decimals?

° Watch Video Solution

81.

Express the following in decimal form.
Z,_.'i_,3517‘22 ) *s**‘-”" ’
54710°3°°6¢°7 "

Write the denominators of above rational

numbers as the product of primes.



https://dl.doubtnut.com/l/_fjr7JBqkdtQH
https://dl.doubtnut.com/l/_fEcDee7k0BhU

o Watch Video Solution

82. If the denominators of the above simplest
rational numbers has no prime divisors other

than 2 and 5 what do you observe?

° Watch Video Solution

8. Express each of the following decimals in the

P form 0.35
q

o Watch Video Solution



https://dl.doubtnut.com/l/_fEcDee7k0BhU
https://dl.doubtnut.com/l/_ZEOI5OmVUos8
https://dl.doubtnut.com/l/_xtUKm01IefXh

84. Express each of the following decimals in

the % form — 8.005

° Watch Video Solution

85. Express each of the following decimals in the

% form 2.104

° Watch Video Solution



https://dl.doubtnut.com/l/_eJHs2p2rUqrO
https://dl.doubtnut.com/l/_S5kzu89ClH0V

86. Express each of the following decimals

numbers in the rational from. 0. 4

° Watch Video Solution

87. Express each of the following decimals

numbers in the rational from. 0. 54

° Watch Video Solution



https://dl.doubtnut.com/l/_zHM4wPllpBCG
https://dl.doubtnut.com/l/_JDcfPPKfeR4x

88. Express each of the following decimals

numbers in the rational from. 4. 7

° Watch Video Solution

89. Express the mixed recurring decimal 15.732

in P form.
q

° Watch Video Solution



https://dl.doubtnut.com/l/_aEqFGwNWngaN
https://dl.doubtnut.com/l/_EG0zL6xjmxPr

90. Convert the decimals 0.9, 14. 5 and 1.24 to
the rational form. Can you find any easy method

other than forma method?

o Watch Video Solution

91. Express each of the following decimal in the

P form 0.57
q

o Watch Video Solution



https://dl.doubtnut.com/l/_nO4WFnhlMy99
https://dl.doubtnut.com/l/_lJcwE9m3WpuF

92. Express each of the following decimal in the

% form0.176

° Watch Video Solution

93. Express each of the following decimal in the

% form 1.00001

° Watch Video Solution



https://dl.doubtnut.com/l/_ZemyaxWG6rzS
https://dl.doubtnut.com/l/_EDR7SfxG56Bm

94. Express each of the following decimal in the

% form 25.125

° Watch Video Solution

95. Express each of the following decimals in the

rational form (%)O 9

° Watch Video Solution



https://dl.doubtnut.com/l/_GpXlEfSkiIJ7
https://dl.doubtnut.com/l/_KDXACtjG3YiZ

96. Express each of the following decimals in the

rational form (£> 0. 57

q

° Watch Video Solution

97. Express each of the following decimals in the

rational form (%) 0.729

° Watch Video Solution



https://dl.doubtnut.com/l/_S6FGRFUZOTRp
https://dl.doubtnut.com/l/_kw2IjilHXKat

98. Express each of the following decimals in the

rational form (%) 12.28

° Watch Video Solution

99, Find (x+y) +~(z—vy) if

5 3
w_an_ Z

° Watch Video Solution

100.Find (z +y) ~ (z —y) ifz = —,y = =

| o |


https://dl.doubtnut.com/l/_zNJUUi41Layf
https://dl.doubtnut.com/l/_bnAO1JNsQYMA
https://dl.doubtnut.com/l/_eXvnV2mCUWjV

| & Watch Video Solution

- 13 12
101. Divide the sum of —— and 2 by the

o Watch Video Solution

102. If 5 number exceeds - of the same

number by 36. Find the number.

o Watch Video Solution



https://dl.doubtnut.com/l/_eXvnV2mCUWjV
https://dl.doubtnut.com/l/_twi2ZfV0xhHw
https://dl.doubtnut.com/l/_AYM6dktUxhWI

3
103. Two pieces of lengths 2€m and 31—Om are

cut from a rope 11 m long . What is the length of

the remaining rope?

o Watch Video Solution

2 3
104. The cost of 7§metres of cloth is ¥ 12Z

Find the cost per metre.

o Watch Video Solution



https://dl.doubtnut.com/l/_f8yzpADepB4k
https://dl.doubtnut.com/l/_OGtHZqquaR5r

105. Find the area of a rectangular park which is

3
183m long and 8§m broad.

° Watch Video Solution

33
106. What number should — 16 be divided by

to get 11?
o ge 1

° Watch Video Solution



https://dl.doubtnut.com/l/_cbK90Anus39o
https://dl.doubtnut.com/l/_qPQpdd7N6Nrz

107. If 36 trousers of equal sizes can be stitched
with 64 metres of cloth. What is the length of

the cloth required for each trousers?

° Watch Video Solution

108. When the repeating decimal 10.363636.... is

written in simplest fractional from P , find the
q

sum p + q.

° Watch Video Solution



https://dl.doubtnut.com/l/_Ix1aGzKlig6S
https://dl.doubtnut.com/l/_A0qc4Duad7Ha
https://dl.doubtnut.com/l/_TwisLdAkWixo

109. Which of the following is not a rational

number ?

A1l

B.1.3

C./5
D. /9

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_TwisLdAkWixo

110. Which of the following is true ?

ANCWCQcCZ
BNCZCWCQ
CWcNCNCZ

DNCWCZcCQ

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_JlaMsjthUvFe

111. Set of rational numbers under addition

which of the following properties is hold ?

A. Closure

B. Associative

C. Commutative

D. All the above

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_9CQMc4GPmB7U

112. Set of rational numbers is not hold which of

the following with respect to. closure property?

A. Addition

B. Subtraction

C. Multiplication

D. Division

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_SK53w97jFX46

113. Which of the following is an additive

identity ?

A.O

B.1

C.2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_SizlSuT1hJlz

114. Which of the following is a multiplicative

identity element?

A.O

B.1

C.2

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_10N4oZOmEoNT

115. Which of the following is a multiplicative

: 3
inverse — —
4

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_YJT3H8ReMYME

5
116. What is the additive inverse of 5 ?

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_8UG2vFYKh7WL

117. Which of the following is commutative
property under multiplication ?

Aaxb=c

B.axb=0bXa

C.ax (bxc)=(axb) xc

D.a X (b4 ¢c) = ab+ ac

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_gNWrwSii7FD4

118. Which of the following is a multiplicative

distributive property over addition ?

212
'3 7% 15
B.2+3=3+2

C2x(3x4)=(2x3)x4

D.2 x (3+4) =(2x3)+(2x4).

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_D8YKEFspuoFU

119. Which of the following is not true ?

A. Every natural number is a whole number

B. Every whole number is an integer

C. Every rational number is an integer

D. Every whole number is a rational number

Answer:

0 Watch Video Solution

oo| =3

120. [ X — =


https://dl.doubtnut.com/l/_FY4rpbAj3ByQ
https://dl.doubtnut.com/l/_CFweI2sYmSra

A.O

N

o
0|~ 3| oo

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_CFweI2sYmSra
https://dl.doubtnut.com/l/_POl1c2honz1p

D. 2

Answer:

° Watch Video Solution

122. The product of multiplicative inverses of
9 q 5 . ,
5 ) and o= is¢

N
4


https://dl.doubtnut.com/l/_POl1c2honz1p
https://dl.doubtnut.com/l/_jhPjlVk82pOa

Answer:

° Watch Video Solution

123. ........... has no multiplication inverse.

A.O

B.1


https://dl.doubtnut.com/l/_jhPjlVk82pOa
https://dl.doubtnut.com/l/_QD1oVo1UG4rG

Answer:

° Watch Video Solution

124. Which of the following is a non -

terminating repeating decimal ?

A22
7

B.13


https://dl.doubtnut.com/l/_QD1oVo1UG4rG
https://dl.doubtnut.com/l/_5j7gtLMEKVso

N

o
o] o X
| C*-"|c>

Answer:

° Watch Video Solution

125. Problem solving : % form of 0.35 is .........

16
A —
7

5 35
' 100

c 0.35
" 100


https://dl.doubtnut.com/l/_5j7gtLMEKVso
https://dl.doubtnut.com/l/_IWsxxKLWekxz

5 35
" 1000

Answer:

o Watch Video Solution

126. The % form of 4. ('7) IS

>

S5 ©ls oln |


https://dl.doubtnut.com/l/_IWsxxKLWekxz
https://dl.doubtnut.com/l/_IGWrbq5fZWnt

Answer:

° Watch Video Solution

127. If we write 0. 4 in % from the value of p + ¢

C.10

D. 13


https://dl.doubtnut.com/l/_IGWrbq5fZWnt
https://dl.doubtnut.com/l/_Yodqige48URl

Answer:

° Watch Video Solution

128. The P form of -8.005 is
g ormoreEEals

1601
200
— 701
B. ——
40
— 812
117

—314
- 819

Answer:



https://dl.doubtnut.com/l/_Yodqige48URl
https://dl.doubtnut.com/l/_LRMILLIqbRbb

I o Watch Video Solution

129. Periodicity of 1. (25) is

A5
B. 25
C.2

D.3

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_LRMILLIqbRbb
https://dl.doubtnut.com/l/_wbO0E9GfvOdH
https://dl.doubtnut.com/l/_rnzEFFOsbixT

130. Period of 1. (m) is

A. 156
B.15.6
C. 156

D. 15600

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_rnzEFFOsbixT
https://dl.doubtnut.com/l/_3yb9AzdWhaq2

A 21

B.1. 8

C.1.5

D.1.6

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_3yb9AzdWhaq2
https://dl.doubtnut.com/l/_cmyrHVCTDH1F

N w

Y
N~ N W w|

Answer:

° Watch Video Solution

133 8+0—0+8—
"5 N 5 —

>
S| ov w|l o


https://dl.doubtnut.com/l/_cmyrHVCTDH1F
https://dl.doubtnut.com/l/_lZPtORM8m7GZ

N

Y
o= ot oo

Answer:

° Watch Video Solution

a2 2 (1 23 1 3
'3\ 9 ) "0 9T T—
A.3
B.O

C.10


https://dl.doubtnut.com/l/_lZPtORM8m7GZ
https://dl.doubtnut.com/l/_5v6InMmBDygM

D. 16

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_5v6InMmBDygM
https://dl.doubtnut.com/l/_V7pwapDUdX4b

Answer:

° Watch Video Solution

136.1 A
Axx = 1

11

8 91
11

. 1121

11
91

Answer:



https://dl.doubtnut.com/l/_V7pwapDUdX4b
https://dl.doubtnut.com/l/_SCIsqgfM0rPk

I o Watch Video Solution

9
137.2 < %7 <7 <K<3,K=_

>

N ot oo N = g =

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_SCIsqgfM0rPk
https://dl.doubtnut.com/l/_bgsvFotzu7KW
https://dl.doubtnut.com/l/_zm9HHA3N88WC

A. 01428

B.0.1328

C.0.7418

D. 0.1923

Answer:

° Watch Video Solution

1
139. _fiﬁi =

100 —


https://dl.doubtnut.com/l/_zm9HHA3N88WC
https://dl.doubtnut.com/l/_LKEnBP9pV2q7

Answer:

° Watch Video Solution

140. Express each of the following decimals in

the rational form (£> 0.9

q


https://dl.doubtnut.com/l/_LKEnBP9pV2q7
https://dl.doubtnut.com/l/_V3iZXy9bR5HA

A9

B.1

C.19

D.7.5

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_V3iZXy9bR5HA
https://dl.doubtnut.com/l/_Ifb48xE35oi7

A.6

B.5

C. 20

D. 4

Answer:

o Watch Video Solution

A.2


https://dl.doubtnut.com/l/_Ifb48xE35oi7
https://dl.doubtnut.com/l/_R2R1zmXDkeUm

D.6

Answer:

° Watch Video Solution

143.2016 < 0 =

A.O

B.2


https://dl.doubtnut.com/l/_R2R1zmXDkeUm
https://dl.doubtnut.com/l/_ytszH4Xn5Ufw

C.16

D. can't be determine

Answer:

° Watch Video Solution

144. Which number is not a prime number nor a

composite number ?

A.16

B.1


https://dl.doubtnut.com/l/_ytszH4Xn5Ufw
https://dl.doubtnut.com/l/_4BwLRPfwCTDq

C.4

D.3

Answer:

° Watch Video Solution

145. The number of rational numbers between

16and 17 is _

A. 10

B.4


https://dl.doubtnut.com/l/_4BwLRPfwCTDq
https://dl.doubtnut.com/l/_So6OBQkH2ex3

C.10

D. Infinite

Answer:

° Watch Video Solution

146 —3 _ 1.
"9 9 —
A. -4
B. 2


https://dl.doubtnut.com/l/_So6OBQkH2ex3
https://dl.doubtnut.com/l/_xKdkLEuimnK5

D.6

Answer:

o Watch Video Solution

147. x (p-q)

A. px-q

B. p-xq

C. xp-q

D. Xp-xq


https://dl.doubtnut.com/l/_xKdkLEuimnK5
https://dl.doubtnut.com/l/_tTeMC090cphh

Answer:

o Watch Video Solution

148, 2 _ 3
9 4 —



https://dl.doubtnut.com/l/_tTeMC090cphh
https://dl.doubtnut.com/l/_01OlkiBIzd9y

o Watch Video Solution

C.1

D.O

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_01OlkiBIzd9y
https://dl.doubtnut.com/l/_Ce5fraaZXoYB
https://dl.doubtnut.com/l/_sae53Ny4BDEQ

150. The multiplicative inverse of 1is _

A7

B.3

C. 1

D.10

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_sae53Ny4BDEQ

—20

3 and

151. The product of two numbers is

one of the numbers is 4 then the other number

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_eswOMwH0n1ZG

Wl RN N~ s

Answer:

o Watch Video Solution

153 5 . =3
.1—2 .:B——18


https://dl.doubtnut.com/l/_1n8SR5bJ10eU
https://dl.doubtnut.com/l/_diW2MAAB4Qc1

Answer:

° Watch Video Solution

154. Which of the following rational number is

in standard form?


https://dl.doubtnut.com/l/_diW2MAAB4Qc1
https://dl.doubtnut.com/l/_UyWnUYe2kk8w

Answer:

° Watch Video Solution

-3
155. If we subtract  from e

A—l
-3

we get

5

6



https://dl.doubtnut.com/l/_UyWnUYe2kk8w
https://dl.doubtnut.com/l/_N3wtqoSArvAQ

Answer:

° Watch Video Solution

156. Identify the bigger one among the

follow —4 =5 -7 =2
ollowing: , , ,
9 " 127 18 " 3

A—7
- 18


https://dl.doubtnut.com/l/_N3wtqoSArvAQ
https://dl.doubtnut.com/l/_nmdqGioJRgFP

Answer:

° Watch Video Solution

3 1
157. Kishore bought 5Z kg apples and 45 kg

oranges then find the total weight in kgs.

A31k
.3g


https://dl.doubtnut.com/l/_nmdqGioJRgFP
https://dl.doubtnut.com/l/_g1Zyk7euZPPf

B.10—kg

C.7—=kg

D.9— kg

Answer:

° Watch Video Solution

1
158. Krishna read 3 of a book in 1 hour. Then

1
how much he will read in 3§ hrs?

A 16
15


https://dl.doubtnut.com/l/_g1Zyk7euZPPf
https://dl.doubtnut.com/l/_uj0e1zUIFpbB

Answer:

° Watch Video Solution

o 11 3
"o 10—
N
10

3


https://dl.doubtnut.com/l/_uj0e1zUIFpbB
https://dl.doubtnut.com/l/_w6OtTP0T4ELr

c 30
20

D. 33/20

Answer:

° Watch Video Solution

1 1
160.1 -5 —5 —5=__
—1
Ao
1
B'E


https://dl.doubtnut.com/l/_w6OtTP0T4ELr
https://dl.doubtnut.com/l/_Ww6AXcvm20WF

D.10

Answer:

o Watch Video Solution

161 A
° 5 . 3 ____
A.9


https://dl.doubtnut.com/l/_Ww6AXcvm20WF
https://dl.doubtnut.com/l/_douN4hspokmr

Answer:

o Watch Video Solution

1
162. Reciprocal of 1—=

N | o



https://dl.doubtnut.com/l/_douN4hspokmr
https://dl.doubtnut.com/l/_201OpLo8Id2F

o Watch Video Solution

163.5136 + 8735 =

A.131.71

B. 138.71

C. 108.71

D. 81.789

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_201OpLo8Id2F
https://dl.doubtnut.com/l/_m4Ylwli04TCr
https://dl.doubtnut.com/l/_PgHORFiwYU0d

Answer:

° Watch Video Solution

165. Write five equivalent fractions for 5


https://dl.doubtnut.com/l/_PgHORFiwYU0d
https://dl.doubtnut.com/l/_TgGwCPl1IlFW

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_TgGwCPl1IlFW
https://dl.doubtnut.com/l/_0Q3Tp23jKcSd

B.16

C.10

D. 12

Answer:

° Watch Video Solution

167 -2 -7 1
: X + ==
5 10 6 —
A —11
- 15
—14
B. ———


https://dl.doubtnut.com/l/_0Q3Tp23jKcSd
https://dl.doubtnut.com/l/_GULA1d9qdBtw

N

o
= ot o

Answer:

° Watch Video Solution

168 5 0=
. Z . _____

A.O


https://dl.doubtnut.com/l/_GULA1d9qdBtw
https://dl.doubtnut.com/l/_1CaKNOT0IYim

D. not defined

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_1CaKNOT0IYim
https://dl.doubtnut.com/l/_zq0oo9HkAAaH

Answer:

° Watch Video Solution

3 — 7 4
17O.§+T+§—g=___
Al
3
B -
20
c —1
"4
5 1
20



https://dl.doubtnut.com/l/_zq0oo9HkAAaH
https://dl.doubtnut.com/l/_GSGzMY2pJTqa

I o Watch Video Solution

171. If we subtract — from l we get
5 20

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_GSGzMY2pJTqa
https://dl.doubtnut.com/l/_Z3v6a65fPLQH
https://dl.doubtnut.com/l/_fisjWPuJqaGx

1
172. The sum of two Rational numbers is 3 and

—8
one of the numbers is To second number is

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_fisjWPuJqaGx
https://dl.doubtnut.com/l/_bn2twoCCoS5A

173. How much can be added to -2 to get %

O~ = © ot ©|g

Answer:

° Watch Video Solution

2 1
174.4 — (2— + 3= | =
( 3 5)


https://dl.doubtnut.com/l/_bn2twoCCoS5A
https://dl.doubtnut.com/l/_bTWXLWC4G0C8

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_bTWXLWC4G0C8
https://dl.doubtnut.com/l/_MnOxdUxnQBuN

Answer:

° Watch Video Solution

1767><11 81 L 1-
9 Nt e S \3 T 9T


https://dl.doubtnut.com/l/_MnOxdUxnQBuN
https://dl.doubtnut.com/l/_nI9S63Ja1xsQ

C.0

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_nI9S63Ja1xsQ
https://dl.doubtnut.com/l/_lbdBgyawxhDS

Answer:

o Watch Video Solution

B.1

C.8


https://dl.doubtnut.com/l/_lbdBgyawxhDS
https://dl.doubtnut.com/l/_NrlJtwlwZAOY

Answer:

° Watch Video Solution

2
1790 = —,y= - then xy =



https://dl.doubtnut.com/l/_NrlJtwlwZAOY
https://dl.doubtnut.com/l/_5Qrfa6JVyy1X

I o Watch Video Solution

—2 —17

180. Th Itiplicative i f X
e multiplicative inverse o - B

is

105
A
34

15
B.
34

115
C.
27

105

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_5Qrfa6JVyy1X
https://dl.doubtnut.com/l/_JQTzZAQQOJkN

181 16 3
. % . 7 _____

Gl - gle I

16
15

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_JQTzZAQQOJkN
https://dl.doubtnut.com/l/_dyVRFO9r8Y5T

32

182. If we multiply 9 by  we get the
8

duct as —
product as o

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_bgbHel5ydc6v

B.4

C.5

D. none

Answer:

° Watch Video Solution

- 1 1 B
-3


https://dl.doubtnut.com/l/_INpBpfMSwjha
https://dl.doubtnut.com/l/_FtpCqRXTRRGX

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_FtpCqRXTRRGX
https://dl.doubtnut.com/l/_tWDJiu5JU06x

B.1—

C.12—

D.11—

Answer:

° Watch Video Solution

2 1
186. The cost of 53 litres of milk is ¥ 101Z then

find the cost of 1 litre

A% 99—


https://dl.doubtnut.com/l/_tWDJiu5JU06x
https://dl.doubtnut.com/l/_7LgpuxnyuF7z

B.¥ 6—

C.¥ 8—

D.¥ 18—

Answer:

° Watch Video Solution

5 3
187. If we multiply 75 by 5 e get


https://dl.doubtnut.com/l/_7LgpuxnyuF7z
https://dl.doubtnut.com/l/_JZghDvLWvQEn

C.7T—

D.1-—

Answer:

° Watch Video Solution

18831 1+1—
"5 5 -

A7
B.3

C. 4


https://dl.doubtnut.com/l/_JZghDvLWvQEn
https://dl.doubtnut.com/l/_bFiMoXZQoMU4

D.5

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_bFiMoXZQoMU4
https://dl.doubtnut.com/l/_n4TlSd6kXnwH

Answer:

o Watch Video Solution

"9 12

N o | = w|»—n oo|\,
DI O

Answer:



https://dl.doubtnut.com/l/_n4TlSd6kXnwH
https://dl.doubtnut.com/l/_scVamwbv47jN

o Watch Video Solution

191. T th of Thouris _ minutes.

A.48
B. 84
C.42

D.13

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_scVamwbv47jN
https://dl.doubtnut.com/l/_qUvciaaDLOWG
https://dl.doubtnut.com/l/_dIOELCOHWqeu

192. The measurements of a rectangular park

2

are 41§m and 183m then the area= m

A. 114
B. 192
C.775

D. 275

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_dIOELCOHWqeu

193. = = then

ar +by+cz=__

B.-b

C.0

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_CLhkJov6jrt9

194. 2a + (-2a)

A. -4a

B. — 4q?

D.O

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_0L7zxfHVpl0p
https://dl.doubtnut.com/l/_HvMuvVsIEgji

D. 1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_HvMuvVsIEgji
https://dl.doubtnut.com/l/_jWdint2nlyuM

B.9

C.7

D. 16

Answer:

° Watch Video Solution

197 2
"16 —

A. 1.6521

B.2.532


https://dl.doubtnut.com/l/_jWdint2nlyuM
https://dl.doubtnut.com/l/_wAxSmh612wJG

C. 1.5625

D. 10.56

Answer:

° Watch Video Solution

198. The % form of 4. (7) IS

>
>~ © >~
| @|w

C."12/31



https://dl.doubtnut.com/l/_wAxSmh612wJG
https://dl.doubtnut.com/l/_NtfK1MgKQGWy

47
10

Answer:

° Watch Video Solution

199. The natural number 5 can be written as__

10

D. all of above


https://dl.doubtnut.com/l/_NtfK1MgKQGWy
https://dl.doubtnut.com/l/_sDZcDskC1aeD

Answer:

o Watch Video Solution

200. (2-3)-2=

A.3

D.6

Answer:



https://dl.doubtnut.com/l/_sDZcDskC1aeD
https://dl.doubtnut.com/l/_aAG7SSny5WN0

I o Watch Video Solution

D. 4

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_aAG7SSny5WN0
https://dl.doubtnut.com/l/_o4uv8ExfP5HR

1

202. The dimensions of one rectangle are 2§ ,

47 then its areais__ sq. units.
A 3
2
B.4

C.3

D31
2

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_uyRpjk1D8tfZ

203. (b-c) a=__

A. ab-c

B. ac-ba

C. ba-ca

D. b-ac

Answer:

o Watch Video Solution

204. A rational number between 5 and 6 is


https://dl.doubtnut.com/l/_5hSPmFz7Lr1n
https://dl.doubtnut.com/l/_7yEnuClVcmG9

A.a+ —

B. ab

Answer:

o Watch Video Solution

5 13
922 ' 33 —

205


https://dl.doubtnut.com/l/_7yEnuClVcmG9
https://dl.doubtnut.com/l/_iY2MdvRuF17y

@

O N
S|~ N|R O~

Answer:

° Watch Video Solution

206. The sum of two rational nhumbers is -7 and

one of the numbers is — = then the second

number is

Al


https://dl.doubtnut.com/l/_iY2MdvRuF17y
https://dl.doubtnut.com/l/_FcXxF3Zi3Pji

B.4

D. none

Answer:

° Watch Video Solution

: .. 91 11
207. If we multiply the addition of T and 3

with their difference we get

A 111
40


https://dl.doubtnut.com/l/_FcXxF3Zi3Pji
https://dl.doubtnut.com/l/_MTVqiC45S7nj

. 135
47

c 119
13

35
47

Answer:

° Watch Video Solution

208. Sum of two Rational Numbers is 8 and one

—5
of them is o then the second number is

A53
"6


https://dl.doubtnut.com/l/_MTVqiC45S7nj
https://dl.doubtnut.com/l/_BpQJdGvQzdnk

Answer:

° Watch Video Solution

209. The difference of period and periodicity of

0.39is

A.37


https://dl.doubtnut.com/l/_BpQJdGvQzdnk
https://dl.doubtnut.com/l/_ms0NPfghAUfZ

B. 39

C. 41

D. 14

Answer:

° Watch Video Solution

210. If 0. 35 is expressed in the form of % the

value of p+q is

A. 27


https://dl.doubtnut.com/l/_ms0NPfghAUfZ
https://dl.doubtnut.com/l/_sVWcqKvlCKLX

B.72

C.35

D. 53

Answer:

° Watch Video Solution

2
211. The product of multiplicative inverse of I
4>
an 11 is
28

A —
95


https://dl.doubtnut.com/l/_sVWcqKvlCKLX
https://dl.doubtnut.com/l/_xIguWz8T27Lp

— 28
55

c 99
- 28

— 55
28

Answer:

° Watch Video Solution

212. In which of the following number set / sets

the additive inverse of 9 lies

A.N


https://dl.doubtnut.com/l/_xIguWz8T27Lp
https://dl.doubtnut.com/l/_w0kNMMqjzqn5

B.W

C.Z

D.Nand W

Answer:

° Watch Video Solution

213. Which of the following is multiplicative

associative property?


https://dl.doubtnut.com/l/_w0kNMMqjzqn5
https://dl.doubtnut.com/l/_rtRlbCSYoECn

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_rtRlbCSYoECn

